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Grade 4 Math Worksheet: Subtraction (Difficulty Level: Intermediate)

Name:
Date:

Part 1: Subtract the following numbers.

7,568 - 2,734 =
9,432 -4,125 =
8,679 - 5,432 =
6,745 - 3,289 =
5,601 - 2,486 =
10,842 - 4,725 =
7,593 - 3,481 =
9,005-4,378 =

N>R WD =

Part 2: Word Problems Set
Read the word problems carefully and solve them:

1. A school had 8,723 students in the morning and 4,619 students in the afternoon.
How many more students were there in the morning than in the afternoon?

2. Atthe start of the day, a bakery had 12,450 cookies. By noon, they had sold
5,638 cookies. How many cookies are left?

3. A farmer has 10,983 apples. He sold 3,742 apples at the market. How many
apples does he have left?

Part 3: Subtraction Across Zeros

9,500 - 4,273 =
7,600 - 2,689 =
8,940 - 5,402 =
5,800 - 3,164 =
6,700 - 4,563 =

o bbb =
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Part 4: Mixed Practice

8,371 -4,692 =
6,923 - 3,419 =
11,506 - 7,284 =
9,100 - 2,683 =
7,594 - 5,237 =

aobkrownN-=

Extra Practice: True or False?
Circle whether the statement is True or False:

5,478 - 2,369 = 3,109 - True / False
8,902 - 5,784 = 3,118 - True / False
7,543 - 3,859 = 3,684 - True / False
10,600 - 4,732 = 5,868 - True / False
6,798 - 3,495 = 3,303 - True / False

abkown =

Bonus Challenge!

1. 15,832 -7,493 =
2. 12,304 - 5,687 =

-BE THE CHAMPION!--



